
14

15

13
8

16

11

9

7

6

10

5

1

2

3

4

12

1 HEATSINK NANO MACHINED BLACK 603-0306 1
2 PCB COMPLETE CB2 LED_ENG 603-0323 1
3 SCREW M3x6 PH PLPS Blk 430-1206-0 3
4 S/A LENS MODULE CB II 603-0022 1
5 EXTRUSION MACHINED NANO BLACK 603-0312 1
6 COVER BOTTOM NANO ETHERCON 603-0341 1
7 PCB COMPLETE ETEHRCON NANO 603-0343 1
8 SCREW M3x10 PH PLPS BLK Plastite429-1208-9 2

9 SCREW SELF TAP FH PZDV BLK
ST2.9x13

429-6113-9 4
10 WASHER LOCK M6 SS 460-2812-2 1
11 YOKE NANO ETHERCON 603-0327 1
12 WASHER FLAT M6 SS 460-2112-2 1
13 THUMBSCREW M6x16 BLACK 26mm DIA900-0129 1
14 BASE PLATE NANO ETHERCON 603-0326 1
15 WASHER LOCK M5 450-2809-4 1
16 SHCS M5X10 900-0134 1

ITEM DESCRIPTION PART# QTY
Parts List

NOTE:
- ITEM 14, 15 AND 16 ARE OPTIONAL

-
DO NOT SCALE DRAWING

603-2015
SHEET 1 OF 1

26/07/16DD

UNLESS OTHERWISE SPECIFIED:

NTS WEIGHT: -

DWG.  NO.

A
SIZE

TITLE:

NAME DATE

COMMENTS:

Q.A.

MFG APPR.

ENG APPR.

CHECKED

DRAWN

-

 
FINISH

MATERIAL

INTERPRET GEOMETRIC
TOLERANCING PER:

DIMENSIONS ARE IMPERIAL
IN INCHES

TOLERANCES:
ONE PLACE DEC.    .05
TWO PLACE DEC.   .01

THREE PLACE DEC.   .003

1 2 3 4 5

NANO RGBA ETHERCON

REV.
MODEL: 603-2015
P/N: CHCBN 

54321

E

B

C

A

B

C

A

E

DD


	Layout1
	Drawing View1


